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information at the top of this page. The exam consists of 9 binary choice questions worth 2 points
each, and 20 multiple choice questions worth 4 points each for a total of 98 points. Please
accurately and completely provide your name, ID number, discussion section number, version
number, and TA name on the scantron sheet and the exam booklet for an additional 2 points. Answer
all questions on the scantron sheet with a #2 pencil. There are 17 printed pages in this exam, including
this cover sheet. BO NOT PULL THE EXAM APART OR REMOVE THE STAPLE.
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L, , agree to neither give nor receive any help on this

exam from others. T understand that the use of a calculator or communication device on
this exam is academic misconduct. I also understand that providing answers to questions
on this exam to other students is academic misconduct, as is taking or receiving answers
to questions on this exam from other students. Thus, I will cover my answers and not
expose my answers to other students. It is important to me to be a person of integrity and
that means ALL ANSWERS on this exam are my answers. Any violation of these

guidelines will result 1n a penalty of at least receiving a zero on this exam.

Signed

Binary Choice (worth 2 points each)

,éﬂf&f \f 1) Suppose, in some market, demand shifts in, and, at the same time, supply shifis in.
Then it must be the case that f
7 '

@1‘ he equilibrium quantity falls.
b) The equilibrium price increases.

§
SomiE 2) Suppose both Country A and Country B produce apples and bananas. Assume that
THoUGC KT both countries have linear production possibility frontiers in the production of these two
/ goods. If Country A sells apples to Country B for 1 banana per apple (suppose both
R EQuik €D countries strictly benefit from this trade), which of the following could be the opportunity
cost of bananas for Country B?

a) 2 apples per banana
@ 1/2 apples per banana

6CHIAGIB ——
oclf));f%:a A LocniB=<14]
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EAT ?/ 3) Consider the following statement:
“We should support a minimum wage policy because it increases average income.”
Is this statetgent positive or normative? .
N Subpedive, vl - fo den ef,z?/m}a/}m 2 Nvsicre
a) The statement is positive.
he statement 1s normative,

gg@w /#6f  4) Suppose beer and cheese curds are complements. Suppose the free-market equilibrium
THoeA e price of cheese curds is $5 per serving, and the government implements a price guarantee
program in this market such that the producers of cheese curds now receive a price of $10
(that 1s, the government subsidizes the sale of cheese curds). Given this information and
holding everything else constant, how will the equilibrium price of beer react?

@ equilibrium price of beer will increase. [@( W‘U}

b) The equilibrium price of beer will decrease.

5) Consider the following two supply curves where P is the price per unit and Q is the
. number of units: oy
THOGGA Supply Curve A: P=Q —1 “ :
ﬁg’@’mﬁ@ Supply Curve B: P=Q 5 -ib Sf & d/44 q -
Which of the following statements about the torizontal summation of these two curves is Gond
true? (As usual, restrict your attention to the first quadrant — i.e. where both price and G?) vy

quantity are positive.)

“& e fﬁh@ ‘hf
a) The horizontal summation of these two supply curves has a kink point.
The horizontal summation of these two supply curves has no kink point. '

N ol 6) Alex can eat 5 cones of ice-cream or 4 doughnuts in one hour. Ben can eat 6 cones of
ice-cream or 9 doughnuts in one hour. Choose the correct option, 4
fHrD ! Aen

a) Alex has a comparative advantage in eating doughnuts.>c
@Ben has a comparative advantage in eating doughnuts. v

£
wes 22N ocq v e ocqive i
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EA g 7) Due to an economic downturn, average income recently fell by 5%. Following this, the
demand for widgets increased by 2%. Given this information, we can conclude that
widgets are

/ﬂm Bié" P b ,}ww
@Bn inferior good. D prsend jﬂ m?ga& ] f w:?g«liﬁ ﬁ*
)

a normal good.

Abr HAa2h 8) Suppose chicken sandwiches and cheeseburgers are substitutes in consumption. After a
change in the price of chicken sandwiches, we observe that the equilibrium price of
cheeseburgers has gone up. Given this information, what can we conclude about the

change in the price of chicken sandwiches? Poprc—e Dih Dy W“df{f{/‘
®T he price of chicken sandwiches went up. b — Mandeet due %A c/@ﬁ
b) The price of chicken sandwiches went down. |7 Ad ? Cne A

o !
ﬁé I3 EF . 9) In June, Erika could make either 15 cookies or 60 brownies in one day. In July, she
OHALAE, M{g’started using better ingredients and could now make either 20 cookies or 75 brownies in
one day. Choose the correct option.

. 8} Erika’s opportunity cost of producing cookies was higher in July than in June.
)} Erika’s opportunity cost of producing brownies was higher in July than in June.q/
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Cg?lonsumer surplus will decrease compared with the initial equilibrium’ | /7’9&

Muitiple Choice (worth 4 points each)
Use the following information to answer the next three (3) questions.
Consider the market for carrots, which can be characterized by the following demand and
supply equations, where Q 1s the quantity and P 1s the price of carrots:
Demand: Q = 20 - (1/6) P
Supply: Q=(1/2)P

10) Calculate the value of consumer surplus (CS) and producer surptus (PS) when the

market is in equilibrium. t’ L 1 (s L CIW 30} (1 5:)
_ . S &”"" 9 LPz20-%F s ,J—Ceoj(”tr)

) CS = 31350 PS = 5450 / P10 P O (550)
(b)CS = $675YPS = $225 30 0 ]M birs

5 Cs = $18§6 PS = $600 D “f i ng/fm g

d) CS = $900; PS = $300 Lo - o) = TR

) [ %o @ C?"Ho G0y =Is AL ket ‘) @ 7
11) The government implements a price support program where it sets a price floor and CL) S”Z r
the government agrees to buy any surplus carrots in the market at this price floor price. /}_Q;Li

The quantity of carrots bought by consumers is 14 carrots after the implementation of this g —L(]o)ﬂi;) o
program. Given this information and holding everything else constant, what will be the / } .
cost of the program to the government? Assume there are no storage costs associated with f{ s

this program. {)C @ 2 ] 4D nat bgmwwwﬁ}(zpﬁfo

g5 D |y WY
R csrne i QB Pl

FFP= 36 Hute Sup féy
/Ar(/f“"/‘f)ﬁf vl

J- 2 3
\ CP Wf-cgw) § o ene
12) Which of the following is true after the price supportgrogram as been implemented? ¢ 4//3‘
26(%

d) $432

The new price of carrots is 1.5 times higher than the initial equilibrium price.
¢) With the implementation of this program, fewer carrots will be produced. F
d) Producer surplus with the price support program is less than the cost of this price
support program to the government. |

(20 J““”mﬁ o) 30(1.6) = B8 SNt frme
DA &) prighally 15 ‘prmﬂa,c.u! 2
pow [ % Carru‘f’jjg weed 2 f\/@f’m

(1%)
) ffwfprogw Ef :)
- U@U@ =) H =)

Céf?’ﬂf\/) ?}/’w _115 +
S LosT HPesem T
fgwiyfdgfw § f) .




(This page is intentionally left blank as an extra work sheet.}
DO NOT DETACH THIS SHEET FROM THIS EXAM BOOKLET!
EXAM CONTINUES ON NEXT PAGE

/4. a3
# #
LT A A B Hour @74’
b e e

. F3 >—» ) b o
o T L

0CQIEL@
IEe 2 O 1 E w L m ..'3_
?)E@}Mw QV‘E Ocqj M 26 0(14!/(4@" =

(’;M F
Jomt 1 et 85C)

7 of 17



S BB~ 13} The market for comic books consists of two buyers (Gary & Annie) and one seller.

Mo T The buyers’ individual demand curves are described by the following equations where P
is the price per book and Q is the quantity of books:
%D Annie’s demand curve: P=10-Q

Gary’s demand curve: P=5-Q
The seller has a supply curve given by:

Seller’s supply curve: P =4 + (1/2)Q
Which of following gives the correct equilibrium price (P*) and quantity {(Q*) in this
market?

a) P* = $4 per book; Q* = 6 books
b) P* = §5 per book; Q* = 5 books
@y P* = $6 per book; Q* = 4 books
d) P* = $8 per book; Q* = 6 books

3 ‘@ 1T F  14) Suppose A, B, and C are all working on homework together. Assume that their
A individual PPFs are linear. In one hour, A can solve either 4 math problems or 2 econ
¢ problems. Tn one hour, B can solve either 3 math problems or 6 econ problems. In two
CH ALLgN & hours, C can solve either 4 math problems or 6 econ pro@he three efficiently
work together on these problems, which of the following cannet happen?
(seepuge #)
a) A, B, and C all produce only math problems. Could hﬁ{?jﬂm
b) A and C produce only math problems, and B only produces econ problems, (owld ha ppen.
c) A produces only math problems, B produces only econ problems, and C produces

some of both types of problems. Could happen | aper
@ and B only produce econ problems, and C only produces math problems. N ﬂfﬁa'hﬁ R P
~

‘ Aanie £ 3‘”‘; £y “10-8,/ S ?WPA
/ 3 b
“Fe3 d AN
S :5 Ba ) b(r ; ) ~ /W@fb
¥ 10 @ y a Sr lg— |
wﬂw;o g"wr,o!y Cub’t&»{,?? \Z M{Q(,Vcﬁ{fo{';fa Li’ ,F @s’j’lwhvf‘w

. f%?w of it chmsnd e
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Use the following information for the next three (3) questions.

In Country A the demand and supply curves for the market for cars can be described by
the following equations where P is the price per car and Q is the quantity of cars:
Demand: P=20-(1/2)Q

Supply: P = (1/2) Q

15} Suppose the government faces deteriorating roads and wishes to reduce the number
of cars on the road through the imposition of a price floor on cars. What price floor will

C HAU—QJ GE result in a total reduction of 8 cars sold relative to the equilibrium market quantity when

SemE
woRK

gomF

there is no government intervention in this market? The government should set the price
{loor to a price of § 4 é@;w'i@

Y Lbahm@}
£ Q = 12 Creduchon 3T K from mohae
rg'Q F?&(;— 4 Ca)jglo -4 (12) :%“fgm

a) $2 percar Y ¥
b) $6 per car to |
c) $12 per car -

@$ 14 per car

16) The government now realizes it can reduce the number of cars and raise some
revenue to fix the roads by imposing an excise tax instead of a price floor. What excise
tax will give the same reduction of 8 fewer cars than the initial market equilibrium

quantity being sold? 4 S0 1. ] f‘ & = [?;’ whet & PV.LL Mgaﬁo}}/
a) An excise tax of $4 per car. Al S ﬁufkr'?‘ - %,CQ)’ 15;517—) ={
b) An excise tax of $6 per car. AR RRVAN - ar }L
excise tax of $8 per car. b AN ?DM - &Ufg = G- U
h - {rae .}"
A b Ex T Ul

d) An excise tax of $14 per car. )
| # S fom}s Exese Taxf Ve
17) Suppose the government wishes to impose an excise tax on cars that earns at least

L ort/C  $100 in revenue. Which one of the following excise taxes would achieve that revenue

&) ?Jfﬁwio ﬁ‘/é)/am =D (T P = J0¢ N6 @xW;Q(;)KMJ

4) rf fx o

goal?

; , ﬂ ? Ve $ %
a) An excise tax of $5 per car X b) Mf ‘{;-\i:@ / - 6gf/uﬂf}>6/i. w-f?‘fj = f\é </od

b) An excise tax of $8 per car X . A
An excise tax of $10 per car AnCweaes ns s ( )

d) An excise tax of $15 per car

~ :ﬁ?—f
&) if fue £ ian= ST P55+ %@W’fmi@)

20 -%5cp=5r =20 Angewest 20
j5= 4" R 7
10 __-lﬁz:cp:_ /O}L Ji@
> S o g:é@ T Kswencer = 5C/5) =4
ﬂ“/5,/Ca‘fl i iié i:g/: /5‘;- é@ /4”95%?&@,:; /307" @.)
@'=5
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18) Consider the market for Turkish Delight in Namia. The supply of Turkish delight is

ALoT T initially given by Q = P - 4, and the initial equalibrium price is $10. Now, a new
F1 CUrRE confectionary technology reduces the cost of producing Turkish delight such thai the
gvi- supply curve shifts vertically down by 4 units. After this change, the new equilibrium
A /3 ITOF price 1s $8. Suppose the demand curve is linear and unchanged by this new technology.
Given this information and holding everything eise constant, which of the following
% Wééequations expresses the demand for Turkish delight in Narma?
CHAU
a)P=16-20Q 10
b)Q=8-P (ﬁ—mﬁagﬁ )
=16-Q
YQ=3P+38
e 19) Sally can spend her time making either pies or cookies. Which of the following

HARD

scenarios could explain the following change in Sally’s PPF?

. initial PPF ‘ . New PPE
cookies cookies

20

T

20 Ppies 25 Pies

a) Sally gets a new mixer that improves her ability to make both cookies and pies. X
b) Sally gets a new pie dish that improves her ability to make pies but is useless for 2
cookies. X —7
@Sally gets a new pie dish that improves her ability to make pies, but accidentally
reaks her favorite cookie sheet, reducing her ability to make cookies.
d) Sally gets a new cookie sheet that improves her ability to make cookies, but
accidentally breaks her favorite pie dish, reducing her ability to make pies. ¥_

11 of 17
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Some 20) Consider a norimal market with a downward-sloping demand curve and an upward-
WeR /{ sloping supply curve. Which of the following cases would definitely result in a decrease
in consumer surplus? For each case, assume that the market is initialty in equilibrium and
that everything else is held constant except for the change described in the case.

Case 1: The supply curve shifts to the left,/r

Case 2: The supply curve shifts to the right. X

Case 3. The government imposes an effective price ceiling. X
Case 4: The government imposes an excise tax. T

a) Only Case 1
b) Only Case 4

oth Cases 1 and 4
d) Cases 2, 3, and 4

EA’Y\T 21) Which of the following scenarios will cause the equilibrium price of wine to move in
a direction different than the other three scenarios? —

a) New research comes out claiming wine reduces the risk of cancer.
b) The price of grapes (an mput into the production of wine) increases.
JAncome falls, and wine is a normal good.

d) The price of beer (a substitute for wine) increases.

52
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22) Consider the market for tomatoes. Suppose a severe draught makes it much harder to
grow tomatoes, and, at the same time, a new tomato juice fad starts causing people to
want to buy more tomatoes. Holding everything else constant, which of the following
describes the change in equilibrium price and quantity following this change?

a) The equilibrium price of tomatoes mcreases and the equilibrium quantity of tomatoes

ecreases relative to the initial equilibrium X

he equilibrium price of tomatoes mcreasef/ and the change in the eguilibrium

quantity of tomatoes is indeterminate relative to the initial equilibrium.
c) The change in the equilibrium price of tomatoes is indeterminateXand the equilibrium
quantity of tomatoes decreases relative to the initial equilibrium.
d) The change in both the equilibrium quantity and the equilibrium price of tomatoes are
indeterminate relative to the mitial equilibrium.

23) Suppose the demand and supply for cheese curds is given by the following equations
where P 1s the price per unit of cheese curds and Q is the number of units of cheese curds:
Demand: P=15-3Q
Supply: P=Q +3
If the government imposes an excise tax of $4, what will be the resulting consumer tax
incidence (CTI)?

a) CTI = S0
b) CTI = $3
(& CTI=36
d) CTI=$8 Se-

3 el £)(@7)

cri=(G-6)(2)
s A

Pt = Exede Tay /%\J K 13of17
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Use the following information for the following three (3} questions.

suppose the market for blueberries is described by the following supply and demand
equations where P is the price per unit of blueberries and Q is the number of units of
blueberries:

Demand: P=30-Q

Supply: @ = (1/2)P

The government believes that the consumption of blueberries improves the health of its
population, and thus imposes a price ceiling of $10 for blueberries. At the same time, the
government plans to implement one of the following two options:

Option 1: The government will import blueberries and sell them to consumers at a price
of $10 in order to meet the excess demand for blueberries resulting from the price ceiling.
Option 2: The government will subsidize private suppliers of blueberries such that
suppliers can meet the demand for blueberries under the price ceiling.

Som€ . 24) Before either option I or option 2 are implemented, what are the values of consumer
okl - surplus (CS), producer surplus (PS), and deadweight loss (DWL) when this price ceiling
Y 1s implemented in this market?

HARD

a) CS = $2oof>€ = 325;‘{)‘)% = $75
GY)CS = $87.507PS = $25; DWL = $37.50

&) CS = $175°PS = $53° DWL = $150

d) CS = $112.50; PS = $112.50° DWL = $0

@,{cgﬁ" UAU%Y 25) Which of the following statemenis are true about the two policy options the
¢ HA LeAl6 !NGgovernment 1s considering?

@ onsumers in this country are indifferent between the two options the government is
considering. Producers in this country strictly prefer option 2.

b) Consumers in this country strictly prefer option 1. Producers in this country strictly
prefer option 2.

¢) Consumers in this country strictly prefer option 2. Producers in this couniry are
indifferent between the two options that the government 1s considering,

d) Both consumers and producers in this country are indifferent between the two options
that the government is considering. k\

EASY ! F }’W 26) What is the size of the subsidy per unit required for option 2?7 A subsidy of
doutd

Je
GET a) $5 per unit of blueberries is required. w
;#ZS’_ = b) $15 per unit of blueberries is required.

OTHER WiSE c) $20 per unit of blueberries is required. émr ey’ S Ii ndr ent \
H,ifle) $30 per unit of blueberries is required. b /: , 4 r-}—;)». q Qﬂjﬂm
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Use the following information for the next two (2) guestions.

Elise and Natalia spend their free time either watching their favorite show or playing
tennis. If Natalia only watches shows, she can watch 20 episodes in a day. Tf she only
plays tennis, Natalia can play 10 matches a day. If Elise only watches shows, she can
watch 40 episodes in a day. If Elise only plays tennis, she can play 25 matches a day.

g A,S \E/ 27) Which of the following production bundles is feasible for Natalia?
@ tennis matches and 5 TV shows F¢45 (ble ,

b) O tennis matches and 25 TV shows Not 4f"b(‘

¢) 10 tennis matches and 10 TV shows Ne F;M (ble

d) 5 tennis matches and 15 TV shows pfy - ﬁ,ﬁ{ (ble

50 ME 28) Let T denote the number of tennis matches, and S denote the number of shows
WOk Ayatched. What is the eq}lation for Natalia and Elise’s joint PPF?
s = 60 - (8/5)T for 1°< 25
PREDICTREENT g — 70 o1 for T2 257

b) S = 60 - (8/5)T for T'< 25
S =64 - (8/5)T for T> 25

¢) S =60 - 2T for T < 10X
S=56-(8/5TforT>10

d) S=60-2T for T < 25 X
S =56 - (8/5)T for T > 25

5 Notadin S Bl
2
r\fo - -
3¢ 5
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29) Consider a market for two types of workers: high skill and low skill. Suppose high
skill workers and low skill workers are substitutes for one another. The equilibrium wage
of high-skill workers is $15 per hour, and the equilibrium wage of low-skill workers is $7
per hour. If the government implements a minimum wage (for workers of all skill levels)
of $10, which of the following would be consequences of this policy?

I: The equilibrium quantity of low-skilled workers hired will decrease. 7.
I1: The equilibrium quantity of high-skilied workers hired will increase. f
1II: The equilibrium wage of high-skilled workers will be unaffected. Fa,[ e
IV: The equilibrium wage of low-skilled workers will increase. Jye

a) Only I will occur.
baOnly T and TV will occur.
FOnly I, T, and TV will occur.

{d) Only L, I, and 1V will occur;

END OF EXAM
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